9.2.22

LO: To subtract fractions where denominators are multiples.

| know- what calculation | need to-do-to find the difference.
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common. denominator before | can subiract fractions.
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Work out 379

Write — as a mixed number.
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What is 634 + 1 ?
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Werite % as a mixed number. [

What is 634+ 1 ? @
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3) Complete the addition pyramid —a number is
the sum of the two numbers below it.
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How can wel convert these fra,cti,ons sa tfw,y have the |same denaminators?

Dont forget todo the same tothe top/
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Now- that we have converted. the fractr;cm, how- many QLghts do we have Lo,ft?

0| HBlw




On whitehoards, write the calculation and draw- the
bar model.
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15 5

How can we make the denominators the same?
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To- match these fra.ctLans, we need. to convert them fLrst!

How can we make the denominators the same?
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8 16
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105
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10 10
15 12
18~ 18
28 2
32 32




o Complete the subtractions,
Use bar models to help you.

3_3 lo_3
420 2020
& S 5_3
520 2020
LLnth L)
10 20 20 20
ol Ll el
2720 20720

© ook waiks % km to school.

Nsinwults%km to school.

How much further does Jack walk than Aisha?

o Complete the subtractions.

¥
o 57"
I R
8 16
3 1
B 6
h N
816

° On Saturday, Alex cycles for -§- of an hour.

On Sunday, she cycles for % of an hour.
a) How many more hours does Alex cycle on Saturday thar

b) How many more minutes does Alex cycle on Saturday tt

Extension aLtLvity ;

Which subtraction is the odd one out?

Explain why.
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On Monday Whitney reads for i of an

" hou

3
— On Tuesday she reads for T of an hour less than - 3
on Monday. T —14
For how long does Whitney read on Monday and
— Tuesday altogether?
What calculation |do we jneed tor do first?
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How can we find the answer? |

For how Iong does Whltney read on Monday and
Tuesdaylaltogether?
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- Tommy and Teddy both have the same

— sized chocolate bar. Tommy has % left,

~ Teddy has 2 left.
12

~ How much more does Tommy have?




@ complete the subtroctions. ©Q complete the subtractions.

Use bar models to help you. [ ]
o i-ta
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© Mot the equivalent calculations. %_Ls.
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4n 1]
5 20 2 20 | @ onsoturday, Alex cyces for Z of an hour.
s
On Sunday, she cycles for <5 of an hour.
13 B3 W she e for 3
10 20 20 20 a) How many more hours does Alex cycle on Saturday thon Sunday?

b) How many more minutes does Alex cycle on Saturday than Sunday?

© ook wolks 7 km to school.

Aishuwalts%kmwsd\ool.

How much further does Jack walk than Aisha?

Extension a,cti.vity:

Which subtraction is the odd one out?
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Explain why.




£ xtension a,ctLvity )

Which subtraction is the odd one out?
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Explain why.
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The perimeter of the rectangle is ry
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Work out the missing length.
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